SET TYPE MARKS QUESTION co Pl Bloom's Accessible ANSWER- ANSWER- ANSWER- ANSWER- ANSWER- ANSWER- ANSWER- ANSWER- ANSWER- ANSWER-

Level For ONE ONE- TWO TWO- THREE THREE- FOUR FOUR- FIVE FIVE-
STATUS STATUS STATUS STATUS STATUS
A SINGLE- 1 Ina co1 Apply My Original  Correct Organizati Incorrect Original Incorrect None of Incorrect
CORRECT supplychai Institute equipmen onal enterprise these
n, OEM t equipmen infrastruct
stands for manufact t ure
urer manufact
urer
A SINGLE- 1 Supply Cco1 Apply My B2B Incorrect B2C Correct c2Cc Incorrect None of Incorrect
CORRECT chain for Institute these
an end
consumer
supported
by an
enterprise
will be
called
A SINGLE- 1 Types of co1 Apply My Material Incorrect Finance Incorrect Informatio Incorrect All of Correct
CORRECT flows Institute flow flow n flow these
involved
in supply
operation
sare
A SINGLE- 1 Stock of Cco1 Apply My Facilities Incorrect Inventory Correct Transport Incorrect Logistics Incorrect
CORRECT goods is Institute ation
an
example
of
A SINGLE- 1 Efficiency C02 Apply My low or few Correct highor Incorrect Bothof Incorrect Noneof Incorrect
CORRECT of Institute inventory more these these
inventory levels inventory
ideally levels
results
into
A SINGLE- 1 Costs of Cco2 Understan My datais Incorrect datais Correct anyone of Incorrect Noneof Incorrect
CORRECT sharing d Institute  shared shared these these
informatio timely timely and
n drops precisely

when



A

SINGLE-
CORRECT

SINGLE-
CORRECT

SINGLE-
CORRECT

SINGLE-
CORRECT

SINGLE-
CORRECT

1

Which of
the
following
represent
s "MIS"
used for
SCM
strategic

operation
s?

Which
one of the
following

is NOT a
characteri

stic of

supply
chain
model?

Major
types of
supply
chain
models
are
Positive,
long-term
relationshi
ps
between
supply
chain
participan
ts refer to:

Which of
the
following
best
represent
s a pure
good?

co1

co1l

co1

co1

co1l

Apply

Apply

My Managem Incorrect Managem Incorrect Managem
Institute ent ent ent
infrastruct informatio informatio
ure n science n systems
system
My Agile Incorrect Efficient Incorrect Responsiv
Institute e

Apply

Apply

Understan
d

My Continuou Incorrect Fast chain Incorrect Flexible

Institute s flow model model
model
My Co- Incorrect Tailored Incorrect Partnershi
Institute operation Logistics ps
s
My Game Incorrect Fast food Incorrect Soap
Institute

Correct

Incorrect

Incorrect

Incorrect

Correct

Managem
ent
infrastruct
ure
science

Non-
flexible

All of
these

Supply
chain
managem
ent

Automobil
e repair

Incorrect

Correct

Correct

Correct

Incorrect



SINGLE-
CORRECT

SINGLE-
CORRECT

SINGLE-
CORRECT

SINGLE-
CORRECT

SINGLE-
CORRECT

SINGLE-
CORRECT

1

1

Which of
the
following
represent
s "Raw
material"?

PMS
(Performa
nce
measurem
ents
system)
can
analyse
and
measure
MRO is
defined by

Which of
the
following
factors is
required
to
evaluate
EOQ?

Lean
productio
n involves

Which
function
typically
employs

more
people
than any
other
functional
area?

co1

co1

COo2

co1

COo2

COo2

Apply My Wheat Correct Flour Incorrect Bread Incorrect None of Incorrect

Institute these
Apply My Internal Incorrect Financial Incorrect Innovative Incorrect All of Correct
Institute  failures operation practices these
s
Apply My Maintena Incorrect Repair Incorrect Bothof  Correct Noneof Incorrect
Institute nce operation these these
operation S
s
Apply My Branding Incorrect Holding  Correct Human Incorrect Noneof Incorrect
Institute cost costs resources' these
costs
Apply My Eliminatio Incorrect Improvem Incorrect Improvem Incorrect Eliminatio Correct
Institute  n of cost ent of ent of n of all
only quality speed types of
only only waste
Apply My Informatio Incorrect Operation Correct Marketing Incorrect Finance Incorrect
Institute n System s



A

SINGLE-
CORRECT

SINGLE-
CORRECT

SINGLE-
CORRECT

1

an
example
of a pure
good use-
case.
Which
one does
not use
operation
S
managem
ent?
Which of
the
following
isnot a
typical
supply
chain
member?

COo2

COo2

COo2

Understan
d

Apply

Apply

My
Institute

My
Institute

My
Institute

Restauran

t

A CA firm

Retailer?s
Creditor

Incorrect  Dentist

Incorrect A bank

Incorrect Wholesale
r

Incorrect Coal Correct Education Incorrect

mining

Incorrect A hospital Incorrect Theyall Correct
use it
Incorrect Producer Incorrect Customer Correct



